DENNIS CONARD, SHERIFF

Item 08 03-10-15

Major Michael Brown Chief Deputy Sheriff

EMERGENCY 9-1-1 (563) 326-8625 (563) 326-8689

400 West 4th Street Davenport, Iowa 52801-1187 (563) 326-8750 www.scottcountyiowa.com sheriff@scottcountyiowa.com

Date: February 23, 2015

Memo To: Board of Supervisors

From: Sheriff Dennis Conard

REF: KELTEK Inc. Quote for Equipping 6 Squads

Enclosed is the KELTEK quote for equipping 6 squad vehicles for the Sheriff's Patrol.

We are proposing to use funds from the Sheriff's Office FY2015 budget as well as \$9,000 from the FY2015 Sheriff's capital budget to cover the purchase of this equipment.

I can be available to answer any questions the Board of Supervisors may have concerning this equipment purchase.



A PA 1100	** Reprint **	** Reprint **			QUOTATIO		
	ELTEK		T	Quote Numbe	r: 6201 e: 02/10/2015		
Main Phone: 641-2	227-2222						
Email: sales@keltekinc.com Address: PO Box 14 Baxter, IA 50028				Quote Total: 47,030.19			
Quoted To:	Deliver To:		Quo	te Notes:			
Scott Co Sheriff 400 West 4th Str	eet Scott County Sheriff 400 West 4th Street						
Davenport	Davenport		2.				
IA 52801	Ph: 563-326-8628						
Account	Customer Connet	older Ref			Quieten Valicipio):		
100680	Tim Lane	RFQ 19143		1 TS	30 Days		
Item Code	Item Descriptions	Collenter	U UOM	Unit Price	tine for		
	RFQ 19143 www.publicpurchase.com						
WHELEN CONTRAC	Nova DAS Whelen Products Master Agreement 0054604-14	1.00	EACH	0.00	0.00		
AVIS CONTRACT	Iowa DAS HAVIS Products Master Agreement 0054603-14	1.00	EACH	0.00	0.00		
NO FREIGHT	Do not add freight to the shipment	1.00	EACH	0.00	0.00		
	DELIVERY INCLUDED						
	ORDER WILL BE FILLED WITH IN 90 BUSINESS I	DAYS					
	BID VALID FOR 60 DAYS						
A315P	Qty 0: 75411 Bosch Relay (\$2.48 ea)	6.00	EACH	182.97	1,097.82		
SAK1	SA315P SPEAKER, BLACK PLASTIC Universal, Ford Explorer,	6.00	EACH	21.09	126.54		
h had	2002-2010, Chevy Suburban/						
MKAJ83	Tahoe, 2004-2006, REPLACEMENT EZ MOUNT KIT 83	6.00	EACH	98.61	591.66		
340	2013 Ford Interceptor Utility (Explorer) Push Bumper	6.00	EACH	337.28	2,023.71		
340WHD	2013 Ford Interceptor Utility NEW Heavy Duty Wraparound (pair)	6.00	EACH	331.86	1,991.16		
23RTPB	V2 SERIES LIGHT RED/BLACK	12.00	EACH	157.32	1,887.84		
23BTPB	V2 SERIES LIGHT BLUE/BLACK	12.00	EACH	157.32	1,887.84		
ONR	ION LIGHT RED	12.00	EACH	100.32	1,203.84		
ONB	ION LIGHT BLUE	12.00 12.00	EACH EACH	100.32	1,203.84		
ONK1B	SWIVEL MOUNT KIT FOR ION BLK	6.00	EACH	17.95 41.04	215.46 246.24		
onbkt2 /iona	ION REAR HATCH MTG BKT (PAIR) NFPA ION LIGHT AMBER	36.00	EACH	100.32	3,611.52		
TX609R	VERTEX SUPER-LED LIGHT RED	12.00	EACH	75.24	902.88		
-HDM-153	2013–2014 Interceptor SUV & 2011–2012 Ford Explorer Retail	6.00	EACH	65.23	391.42		
	Heavy Duty Vehicle Mount			2			
-HDM-209	8.5 in Heavy Duty Telescoping Pole	6.00	EACH	54.30	325.85		
-MD-102	Swing arm with motion adapter	6.00	EACH	188.46	1,130.77		

Continued...

1





Main Phone: 641-227-2222 Email: sales@keltekinc.com

Account	Order Ret				6204	20 5-1-1
100680	RFQ 19143	MAIN 1	TS		6201	30 Days
Saultam Code:			JUGITUR		The second s	
C-HDM-401	Heavy duty stability side	·.	6.00	EACH	38.90	233.42
	support arm, Mounts to OEM		an an an an			
ikanalis -	frame under passenger glove		0.00	FAOL	7.40	43.09
CM003406	Adapter bushing	and the first	6.00	EACH	7.18	a sector and the sector and the sector
C-PM-109	Brother printer mount		6.00	EACH	89.77	538.65 222.64
CM93051	Arm Rest replacement, large		6.00 6.00	EACH	37.10 164.58	987.53
C-VS-1400-INUT-H	2013-2014 Ford Interceptor Utility Police Vehicle Specifi		0.00	EAUN	104.00	807.00
	14 in Console - Housing Only					
C-EB30-EOR-1P	1-Piece Equipment Mounting		6.00	EACH	15.96	95.76
C-ED30-EOK-IP	Bracket, 3" Mounting Space,		0.00	LAON	10.00	00110
	Fits M/A-COM M-7100, M/A-COM				1. Ko	
C-EB40-WS2-1P	4 in Equipment Mounting		6.00	EACH	17.67	106.02
0 2040 1102 11	Bracket (1 PC)		0.00			
C-AP-0325	3 in accessory pocket, 2.5 in	<i>c</i>	6.00	EACH	27.53	165.19
	deep					
C-LP-4	4 Lighter plug outlets		6.00	EACH	29.92	179.55
C-CUP2-E-C	Dual external cup holder		6:00	EACH	22.14	132.87
C-MCB	Mic clip bracket		6.00	EACH	8.37	50.27
HLN9073B	HANG UP CLIP		12.00	EACH	4.99	59.88
С-ВЗ	1-piece L shaped universal		6.00	EACH	10.77	64.64
	Individual vehicle mounting					
	bracket, 4 in high, 5 in wide					
	**TP-SB1US-SS has been replaced	with TP-US-SS-TF	ROY10			
TP-US-SS-TROY10	UNIVERSAL STASH-N-STOW PANE	L,	6.00	EACH	596.06	3,576.38
	SLIDING WINDOW, DIAMOND PUNC	н				
	SCREEN	2				
2-SAB-FDUV	12-13 Ford UV Partition Mount		6.00	EACH	0.00	0.00
	 No Charge if ordered with 					
	partition					
	**KP-FDUV-SS-N is replaced with 2	-KP-FDUV-SS-N	Annual Calmin			
2-KP-FDUV-SS-N	12-13 Ford UV lower kick		6.00	EACH	90.31	541.88
	panels - Notched for Ford					
11月1月1日	wire channel					
PS-FDUV-OS-R	UV Cargo cage & plastic		6.00	EACH	1174.06	7,044.38
ELC'	seat with safety belt		0.00	FACIL	177.04	1 000 00
NG-FDUV-DS/PS	Window Bars for 2013		6.00	EACH	177.01	1,062.08
arres & Alexandria	Ford Interceptor SUV		0.00	FACIL	400.47	007.05
DP-FDUV-DS/PS	Door Panels for 2013		6.00	EACH	166.17	997.05
	Ford Interceptor SUV **AC-UV-CARGO-MNT has been re	placed with CP-UV	CARGO	MNIT		
			6.00	EACH	289.68	1,738.13
P-UV-CARGO-MN	Hinged mounting platform that		0.00	CAUN	209.00	1,730.13
O IN TOWN	allows access to spare tire		6.00	EACH	180.62	1,083.75
AC-UV-TRAY-H	FORD UTILITY VEHICLE ELECTRONICS TRAY		0.00	LAUIT	100.02	1,000.70
	ELECTRUNIUS TRAT					





Main Phone: 641-227-2222 Email: sales@keltekinc.com

Account	Order Ref	u al me		ip i	Our Order No	
100680	RFQ 19143 M.	AIN 1	TS	Contraction of the local data	6201	30 Days
i Item Code	Item Description		QUERNIN	100M	E SintsPhiles	
MB8U	0-1000 MHz 17 FEET		12.00	EACH	12.05	144.66
RFT-1202-2	TNC MALE CRIMP CONNECTOR		6.00	EACH	3.23	19.38
ABSCANC	150/450/800 BLK SCAN ANTENNA		12.00	EACH	27.93	335.27
RFB-1106-2	BNC MALE CRIMP CONNECTOR		6.00	EACH	2.31	13.89
CG-X	Chargeguard-select		6.00	EACH	56.43	338.58
185080F	BUSS HI-AMP CIRCUIT BREAKER, SWITCHABLE WITH A MANUAL		12.00	EACH	31.98	383.86
	TRIP PUSH BUTTON			54011	24.17	290.15
V23232D0001X001	75 AMP Relay		12.00	EACH		172.01
15600-12-21	ATC FUSE PANEL W/ GROUNDING PAD, 12 POSITION		12.00	EACH	14.33	
HHF	3-20 AMP ATC FUSE HOLDER W/ COVER		12.00	EACH	1.94	23.30
V23PEDB	V-SERIES PEDESTAL MT KIT BLACK		12.00	EACH	38.19	458.28
SRALF1	LIBERTY WC LR11 ALLEY LT PAIR (Same as SPALF1) Wecan		6.00	EACH	72.96	437.76
SXTDLED	LIBERTY OPT. LED TAKE-DOWN (Set of 2)		6.00	EACH	228.00	1,368.00
LB3603	USB CABLE - 10 FOOT LENGTH	1	6.00	EACH	11.07	66.42
C-EB20-168	2 in Equipment Mounting Bracke Bracket (2 PC)		6.00	EACH	15.96	95.76
SLENKT1-48	LFL LENS RETROFIT KIT #1 - 48" Liberty Lightbar (Used to be 9LLENKT1)		6.00	EACH	122.55	735.30
	***SLENKT1 need to confirm length of ba	r before orde	ring			
STPKT83	Explorer / 2011–2012 and 2013 Police Interceptor Utility / 48–55" (Not for Use with Roof		6.00	EACH	51.87	311.22
TP-FDUV-R	Rear partition, square grid pattern. Mount included		6.00	EACH	379.31	2,275.88
SCTARML6	SERIAL T/A MODULE, 6 LED		6.00	EACH	299.82	1,798.92
		а. 			~	
		D.				
Complete Shipments	vs Partials -KELTEK only ships complete orders un	less partials are	s partials are		tal:	47,030.19
specifically requested (in multiple shipments a	pecifically requested (shipments may be from multiple manufacturers). Partial shipments may reso n multiple shipments and multiple invoices with payment terms starting at time of invoice.		ay result		a Tax:	0.00
eturns: Special order item sales are final. Returns need to be completed within 90 days of invoice. I returns are subject to a 50% restocking fee or a replacement order of 1.5 times the original order mount. Items need to be unopened and in original packaging. Please contact your inside sales rep				Grand	l Total:	47,030.19

All returns are subject to a 50% restocking fee or a replacement order of 1.5 times the original order amount. Items need to be unopened and in original packaging. Please contact your inside sales rep for RA information.

Warranty: Please contact your inside sale rep for details.

Payment Methods: KELTEK accepts cash, check, Visa or Mastercard. There is a 2.31% processing fee for use of a credit card. Prepayment required if new account or no terms.

THE COUNTY AUDITOR'S SIGNATURE CERTIFIES THAT THIS RESOLUTION HAS BEEN FORMALLY APPROVED BY THE BOARD OF SUPERVISORS ON

DATE

SCOTT COUNTY AUDITOR

RESOLUTION

SCOTT COUNTY BOARD OF SUPERVISORS

March 12, 2015

APPROVAL OF KELTEK INC. PURCHASE FOR EQUIPPING 6 SQUADS IN THE SHERIFF'S OFFICE

BE IT RESOLVED BY the Scott County Board of Supervisors as follows:

- Section 1. That the Board hereby approves the purchase in the amount of \$47,030.19 from KELTEK Inc. for equipping 6 squad vehicles.
- Section 2. That the Board approves this purchase.
- Section 3. That the Sheriff is approved to make this purchase.
- Section 4. This resolution shall take effect immediately.